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Match #41


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
Since 2000, more than 260 people have been infected by this at petting zoos around the country.  More notably, 171 were infected at two Oregon Wendy's restaurants by what rod-shaped bacterium, whose presence prompted a massive spinach recall in September 2006?

ANSWER: Escherichia coli O157:H7

2.
Some types of payroll tax, most forms of sales and property tax and all forms of a poll tax can be given this label. What type of tax takes a higher percentage of income from lower-income people and is the opposite of a progressive tax?

ANSWER: regressive tax

3.
TWO ANSWERS REQUIRED. What two French verbs are used as auxiliaries to form the passé (pah-SAY) composé (kohm-poh-SAY)? 

ANSWER: avoir (ah-VWAH) and être (EH-truh)
4.
He joined the US Postal Service team in 2002, despite a chronic hip injury that allows him to take cortisone, a substance normally banned in his sport.  He won the Team Time Trial in the 2004 Tour de France with US Postal Service, but left the team after the season to join Phonak Hearing Systems.  Who is this cyclist, who unoffically won the 2006 Tour de France before testing positive for elevated levels of testosterone?

ANSWER: Floyd Landis
5.
When material falls on top of a glacier, it is considered to be the ablated form of this material.  The medial type occurs when two glaciers merge, and what previously was material deposited laterally along one glacier's path now runs along the middle of the combined glacier.  What is the term for this type of deposition, created by material left behind by an advancing or retreating glacier?

ANSWER: moraine
6.
For a straight line, what is the eccentricity? 

ANSWER:
infinite or infinity
7.
It was founded in 1916 as Pacific Aero Products Company. Over the years, it split off United Airlines, and acquired McDonell Douglas and Piasecki Helicopter. Its “Stratoliner” was the first airplane to have a pressurized cabin and it is currently developing its “Dreamliner.” What company is perhaps best-known for its 767 and 777 series of passenger jets? 

ANSWER: Boeing
8.
Henry Hyde and Paul Tagliabue played basketball for this school in the 1940s and 1960s. They lost the NCAA title game in 1943 to Wyoming, in 1982 to North Carolina and in 1985 to Villanova, but won it in 1984 over Houston. Coaches here have included Craig Esherick and two generations of John Thompsons. What college in Washington, D.C., is in the Big East and is nicknamed the “Hoyas”?

ANSWER:  Georgetown University

9.
This novel ends with two men executing the protagonist on the day before his thirty-first birthday. Its ten chapters include “The Whipper,” “In the Cathedral,” “Advocate – Manufacturer – Painter” and “The Arrest – Conversation with Frau Grubach – Then Fräulein Bürstner.” (FROY-line BEWRST-ner) What Franz Kafka novel opens with the arrest of junior bank manager Josef K.?  

ANSWER: The Trial 

10.
He was able to prove that there are an infinite number of prime numbers. His works, Conics, about conic sections, and Optics, about artistic perspective, use many of the principles of geometry he covered in his most famous work, Elements. What 3rd century BC mathematician is considered the “father of geometry”? 

ANSWER: Euclid

11.
This novel’s protagonist gets the help of Mrs Whatsit, Mrs Who and Mrs Which and learns how to “tesseract.” At its end, the protagonist, Meg Murry, frees her brother Charles Wallace from the planet Camazotz by using the power of love. The evil brain, IT, is defeated by love in what novel by Madeleine L’Engle?

ANSWER: A Wrinkle in Time
12.
In 1998, this African-American writer had over 850 of his haiku published posthumously. Works published after he had permanently moved to France in 1946 include The Outsider and White Man, Listen! Who created the character Bigger Thomas in Native Son and wrote the autobiography Black Boy? 

ANSWER: Richard Wright
13.
This company started life in 1983, as Jackson, Mississippi-based Long Distance Discount Services. Its proposed 1999 merger with Sprint failed, and two years later, an accounting scandal involving former CEO Bernie Ebbers emerged. What company bought Washington, DC-based MCI in 1997, resumed using the MCI name in 2003 and was bought by Verizon in January 2006? 

ANSWER: MCI WorldCom (prompt on “MCI” by itself if given before “MCI” is said in the question)

14.
One cause of this condition is the Malassezia ovalis (mah-lah-SEH-zee-uh OH-vah-lis) fungus, others include dermatitis and psoriasis. Treatments include Nizoral A-D and various types of shampoo. What condition results when too much dead skin starts flaking from the scalp?

ANSWER:
dandruff
15.
Their most famous leader was Hassan-i-Sabah (hah-SAN-ee-SAH-bah), the “Old Man of the Mountain.” From their capital of Alamut (ah-lah-MOOT), they terrorized their Abbasid (ah-bah-SID) and Seljuk (sel-JOOK) enemies, killing powerful individuals. What sect allegedly got its name from members chewing leaves of hashish, and lends its name to the targeted killing of a political leader, such as Abraham Lincoln or JFK?
ANSWER: Hashshashin (hash-SHAH-sheen) or Assassins

Second period, 10 directed questions per team, 10 points each
Set A questions have an “A” after their number; set B questions have a “B.” 

1A.
What epic poem by Stephen Vincent Benét (beh-NAY) spans the time from the title character’s raid on Harper’s Ferry to the end of the Civil War?

ANSWER: John Brown’s Body
1B.
It is used in Python but not Haskell. It is used in newer versions of COBOL but not FORTRAN. It is used in Java but not Visual Basic, and in C++ but not C. Name this type of programming whose most known feature is classes.

ANSWER: Object Oriented Programming or OOP

2A.
What mountain range forms the border between Poland and Slovakia, and then curves around the Romanian region of Transylvania?

ANSWER: Carpathian Mountains

2B.
What Confederate officer led the cavalry of the Army of Northern Virginia between the Seven Days battles and the Battle of the Wilderness? 

ANSWER: J.E.B. Stuart
3A.
THIS IS A COMPUTATION QUESTION.  If x equals 4 when y equals 9, what does x equal when y equals 189?

ANSWER:
x equals 84
3B.
What is the superlative form of the adjective “less”?

ANSWER: least
4A.
What is the lightest element with all radioactive isotopes?

ANSWER:
technetium (tek-NEE-shee-um)
4B.
Four Russian military intelligence officers were arrested and detained in what country, sparking a controversy between Moscow and Tbilisi (tbee-LEE-see)?
ANSWER: Georgia
5A.
What Swiss manufacturer of high-priced gold and diamond wristwatches, such as the Oyster and the Cellini (che-LEE-nee), celebrated its one hundredth anniversary last year?

ANSWER:  Rolex
5B.
THIS IS A COMPUTATION QUESTION. What is 15 factorial divided by 12 factorial?

ANSWER:
2730
6A.
In musical notation, the initials D.C. stand for what two-word term that composers use to instruct musicians to return to the beginning?


ANSWER:  da capo
6B.
What is the last book of the Christian Old Testament? 

ANSWER: Malachi (mah-luh-KYE) (In Jewish Bibles, 1 and 2 Chronicles are the last books)

7A.
Glossology (GLAW-saw-loh-jee) is the study of what part of the body?

ANSWER:
tongue
7B.
In what layer of the atmosphere do temperatures rise with altitude due to absorption of solar radiation?

ANSWER: thermosphere
8A.
THIS IS A COMPUTATION QUESTION. In simplest terms, what is 1/12 plus 1/9 plus 1/3?

ANSWER:
19/36
8B.
What is the term for a segment that goes from the center of a regular polygon to the edge of the polygon and is perpendicular to one of the polygon’s sides?

ANSWER:
apothem
9A.
This prize is today sponsored by the Man Group plc. What prize is given to the author of the best novel by a British Commonwealth citizen during the past year? 

ANSWER: Man Booker Prize

9B.
What native of Newport News is best known for the novels, The Confessions of Nat Turner and Sophie’s Choice? 

ANSWER: William Styron
10A.
What series of wars were fought between 1455 and 1485 between the Houses of Lancaster and York? 

ANSWER: War of the Roses or Wars of the Roses
10B.
What Prussian king ruled during the War of the Austrian Succession and the Seven Years’ War?

ANSWER: Frederick the Great or Frederick II

Third period, 15 toss-ups, 10 points each

1.
Take a solution of known concentration. Now, add it to another solution of unknown concentration until the chemical reaction between the two solutions is complete. What common laboratory process, also known as volumetric analysis, has just been completed?

ANSWER:
titration
2.
Between 1901 and 1903, he traveled as a pilgrim in Greece and the Holy Land, and arrived in St. Petersburg in 1903. In 1905, his influence grew over Nicholas and Alexandra, due to his ability to heal Prince Alexei’s bleeding. According to Prince Felix Yusupov, he did not die until he was shot, poisoned and drowned. What monk, despite the disco song from Boney M, was probably not the “lover of the Russian queen?”

ANSWER: Grigory Rasputin
3.
The British put this word before “bencher” to describe a Member of Parliament that isn’t part of a party’s leadership. A church leader would put it before “slide” to describe a return to sin. People put it before “lash” to describe a violent reaction to something. What word goes before “stage” to describe the preparation area in a theater?

ANSWER: back
4.
With a half-life of 12.32 years, it is industrially produced by neutron activation of lithium-6 and plays a key part in Spiderman 2.  Name this isotope of hydrogen that has two neutrons.

ANSWER:
tritium
5.
This director’s most recent project is “The Departed,” based on the Japanese film “Infernal Affairs.”  This movie will be his third straight collaboration with actor Leonardo DiCaprio, after “Gangs of New York” and “The Aviator.” Who is this director, best known for “Taxi Driver,” “Raging Bull,” and “GoodFellas”?


ANSWER:  Martin Scorsese (scor-SAY-zee)

6.
This eight-letter word comes from Latin words meaning “from” and “to be empty.” In war, it means to voluntarily leave an area, such as a city or fortress. What word is used most often in disaster preparation to describe people leaving a threatened area? 

ANSWER: evacuate (don’t accept “evacuation”, as it is not eight letters.) 

7.
THIS IS A COMPUTATION QUESTION. What is the complement of a 21 degree angle?

ANSWER:
69 degrees
8.
Collectors of this toy are often known as arctophiles.  Washington Post cartoonist Clifford Berryman earned some of the credit for developing it, as he pictorialized a hunting trip to Mississippi made by President Roosevelt in 1902, where he saved an animal from death.  What ursine stuffed toy appeared in a Brooklyn store the following winter?


ANSWER:  teddy bear 

9.
In 290 AD, they were known as the “Tervingi” (ter-WEEN-ghee). In 378 AD, they destroyed the Roman army at the battle of Adrianople, and their leader Alaric sacked Rome in 410 AD. They moved west, and by 500 AD, their kingdom was southwestern France and most of Spain. Their power ended when King Rodrigo was defeated by the Moors in 711 AD. What barbarian tribe must not be confused with the Ostrogoths?

ANSWER: Visigoths

10.
Polarizing, reflective, and dispersive are types of what optical device whose usual purpose is to split light into its constituent colors?

ANSWER:
prism
11.
The 208 AD Battle of Red Cliffs took place along this river’s banks. It forms the Three Gorges in Hubei (hoo-BAY) province and meets its biggest tributary, the Han River, near the city of Wuhan. Shanghai is located near the mouth of what river to the south of the Yellow River?

ANSWER: Yangtze River or Long River or Chang Jiang 
12.
In 1789, its size was set at six. In 1807, it was set to seven; in 1837, it was set to nine. In 1863, it was set to ten. Congress reduced its size to seven to combat President Johnson, but in 1869, it was set at its present nine. Franklin D. Roosevelt tried to set at fifteen the size of what highest court in the USA? 

ANSWER: United States Supreme Court (or Supreme Court of the United States)

13.
The 1948 Nobel Prize in Physiology or Medicine went to Paul Muller for his work on it.  Michael Crichton said that its ban has “killed more people than Hitler,” and the World Health Organization is allowing it to be sprayed inside homes. Name this pesticide banned in the U.S. in the 1970s due to its effects on bald eagle eggs.

ANSWER:
DDT
14.
This poem begins with the speaker commenting about a picture Fra Pandolf painted of his recently deceased wife. The speaker complains that “she had / A heart – how shall I say – too soon made glad” and speaks of giving her a “nine-hundred-years-old name.” What poem by Robert Browning is a speech given by the Duke of Ferrara regarding his wife?

ANSWER: “My Last Duchess”

15.
Ovid wrote that these creatures were originally female friends of Persephone (pur-SEF-oh-nee); since they did not stop her kidnapping by Hades, Demeter (duh-MEE-tur) turned them into birds with female faces.  What creatures enchanted sailors with their songs, leading to the fatal crashing of ships into nearby rocks?

ANSWER:  Sirens
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Miles Berry obtained a patent for this process in Great Britain in 1839.  It vastly improved on the eight-hour exposure time of Joseph Niepce’s (nee-EP-suhz) process, but by 1850 it was superseded by the ambrotype, the tintype, and the calotype, which used a negative to reproduce the image.  Identify this early kind of photograph named after its French inventor.


ANSWER:  daguerreotype (dah-GAI-roh-type)
2.
Of the family Alcidae (al-SEE-dye), these penguin-like flying birds live on the open sea and include the guillemots (ghee-leh-MAWTS), murrelets, and puffins.  Name this type of bird that is the mascot for the Knowledge Master Open and whose “great” type was flightless but in the 18th century became extinct? 

ANSWER:
auk
3.
THIS IS A COMPUTATION QUESTION. What is 41 times 22 times 10?

ANSWER:
9020
4.
What Romantic poet wrote the lines, “The music, yearning like a God in pain,” “That thou, light-winged Dryad of the trees,” and “Thou still unravish’d bride of quietness, / Thou foster-child of silence and slow time” in his poems “The Eve of St. Agnes,” “To a Nightingale” and “Ode on a Grecian Urn”? 

ANSWER: John Keats
5.
His severed head stood atop a pike at Fort Plymouth’s entrance for two decades. When the war turned against him, he tried to hide in the swamps of southern Rhode Island, but was shot by a “Praying Indian.” Metacomet (meh-tah-KOH-met) was the given name of what Native American leader that fought a vicious war against New England colonists in 1675 and 1676?

ANSWER: King Philip (accept Metacom or Metacomet before name is mentioned)

All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

